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Unit 9 - Law of Sines and Law of Cosines
Test - Law of Sines
Quiz - Law of Cosines

Test - Combined
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Oblique Tr'ianglesénon-r'igh‘r)

Law oT Sines

b
h

Law of Sines
In any triangle, the sines of the angles are proportional to the

opposite sides. _, ~ AC A
S\A(a _S b _S C
sinA ~ sinB  sinC

Or

SinA__ sinB __sinC
a b c
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Adv. Alg.-Trig.
L L
Homework #9.1

1) 20
3)a=16,b=163(27.7)
5) 61

7) 241t

February 02, 2017

HW 9.2

Test on Law of Sines
Next Wednesday!

.
2}5
4ya=066,c=79

0) 54
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1) INTRIANGLE ABC, a=10, sin A= 30, AND SJ.ﬂB—E FIND b.
& _ b
o SinA  smb f60~ = dob
£ o~ 10 /b L, 50\;
+ S -1 b =20
2) INTRIANGLE ABC, a= 6 sin A=—, AND b=20. F]\]D sin B .
4
I&: 20
y SlnB
Si -
NG AR -
(. .
3) INTRIANGLE. ABC, /4 =30, /C=30°, AND ¢ =16. FIND a AND b.
‘b SinA  §nd  SiInC

(] \3 lo
A —\c S\nSR( Sin3D S\n\U) lSm'LD
RSi0r30 = (oS

S S E
A =g S0

[3:7..77
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A) INTRIANGLE ABC, £4=48°%, /C =62°, AND b =84 feet. FIND @ AND ¢ TO
THE NEAREST FOOT.

TRIANGLE ABC, AB =81fzet, /4 =61°, AND 2C =73°. FIND THE
NGTH %;{C , CORRECT TO THE NEAREST FOOT.

AL &l
3 Al UG Sia3
\ a3
A < ACL

G) INTRIANGLE ABC, AB =50, £4=71°, AND £C =49", FIND THE LENGTH
OF THE ALTITUDE QN AR, CORRECT TO THE NEAREST INTEGER.
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7) TWO ANGLES OF A TRIANGLE ARE 25~ AND 70~ AND THE LONGEST SIDE
IS 56 FEET. FIND THE SHORTEST SIDE, CORRECT TCO THE NEAREST FOOT.
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Warm-Up

1) Find a.

16
59 30 B

2) Find b. B

12
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Law of Sines Word Problems
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Law of Sines Word Problems
Problem #1

In Triangle ABC, a= 130 feet, angle A = 39°, angle B = 65°. Find side b,
correct To}%he hearest 10 feet.

b - 130
sinkS  Sin}g
T\ (30
- b= 187.7

f

b—C  b-\So™.
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Problem #2

In Triangle ABC, BC = 30 feet, angle A = 30°10', and angle € = 103°20". Find
AC, correct to the nearest foot.

@Luo' 30 230 - AC
30 SAHB  Sind 30"

C AC=43.3

(&S
-

10
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Problem #3

A Lighthouse DC is sighted from two points, A and B, directly west of the
lighthouse and on the same horizontal plane with its base €. At point A, the
angle of elevation of D, the top of the lighthouse, is 13°30' and at point B the
angle is 31°45'. If AB is 1156 feet, find the height of the lighthouse to the

D

nearest foot. )86_3\%{3' - I L{ %O\SI

’873' [(S(o _EL
NGIFSN Sir\\g"s&

Luns\, Fr

o
.
— .

11



HW 9.2

Test on Law of Sines
Next Wednesday!
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